+H6F8A1H

FREBEBE L 2 —
WA/ 2 VEBERR

1 EEBERR

INERE HEHN) BHE(E) BHE(%) FFERA waH(N) BHE(B) BHEE(%)
A — 23 24 104.3 H— 50 51 102.0
WHE= 30 31 103.3 B 35 36 102.9
WA= 32 33 103.1 E= 22 23 104.5
kS 26 27 103.8 EFil 29 30 103.4
wHERE 53 54 101.9 EPAN 42 43 102.4
AN 23 24 104.3 Al 44 45 102.3
FEE— 45 46 102.2 EHEF 39 40 102.6
FEFEZ 55 56 101.8 ETE 30 31 103.3
FEE= 55 56 101.8 E=3-: 46 47 102.2
F B 43 44 102.3 E=3= i 34 35 102.9
EHEF 38 39 102.6 L 44 45 102.3
HiEHF 33 34 103.0 7L [ 28 29 103.6
EEE— 25 26 104.0 LR 32 33 103.1
EEEC 38 39 102.6 FER 61 62 101.6
EieE— 56 57 101.8 i) 32 33 103.1
3= i 31 32 103.2 Hl& 27 28 103.7
TR 29 30 103.4 RE 28 29 103.6
LF 33 34 103.0 mIE 35 36 102.9
Al 53 54 101.9 PERAE 658 676 102.7
L FEEE— 33 34 103.0 N 1,992 2,046 102.7
W= 35 36 102.9
IWHEE= 26 27 103.8 R BBAK/ HEK
LHZER 17 18 105.9 (KMEEEAmAAHREED, )
#=ILH 56 57 101.8
[EzfilEs 52 53 101.9
7oL 27 28 103.7
Jeilim 32 33 103.1
TERI 51 52 102.0 2 LEER
=TS 44 45 102.3 AT £ BHE (%)
255 24 25 104.2 2fm 138.2
2EA 38 39 102.6 EZET 107.8
LA 40 41 102.5 TAT™ 128.0
3=k a7 48 102.1 =l 136.3
== 22 23 104.5 HmEm 36.4
kil & 41 42 102.4 EAHET 128.3
FE/IFH 28 29 103.6 HETT : XERIEE [SH4FE FERICB T 2HEDBER

INEBAE 1,334 1,370 102.7 fLoEESICET 2 BEREE]




